W
37 %=

a1 A

N o#oF 3

SIAl TR 163,65 608% (HEEs, I EH

Tel:031-297-8208

Fex:031-257-8208 E-mail:

skmetal88@gmail. com

GFak o o] ol HP:010-6265-8203
A A A
Al st u(AF)
= =
A AR} 2018.4.24
# AL B3E AL J)LFUT

FA(F7HA %) W 2, 199, 780

No £ T4 a9 | % @7} FF7TS Ao W) 3

1 Ti GR5 HEX BOLT M8=*50 EA 300 3,020 %906, 000 %90, 600 ogng
2 Ti GR5 HEX BOLT M8*35 EA 200 ¥1,670 334,000 W¥33,400

3 T1 GR5 HEX BOLT M6%20 EA 50 ¥1,730 86,500 #8,650

4 Ti1 GR5 NUT M8 EA 500 ¥1,000 %500, 000 50,000

5 Ti GR5 NUT M6 EA 50 W722 W36, 100 3,610

3 Ti GR2 Washer M8 EA 500 W252 ¥126,000 W¥12,600

7 Ti1 GR2 Washer M6 EA 50 w224 11,200 ¥1,120

8

9

10

11

12

13

3} A 1, 650 W 1,999,800 | W 199,980

REMARKS

1L AARFa7|1- A28 10d
2. 947 HFdEZHEEH 0¢84 8.



User
입력 텍스트
중국산


471w s3] v

Tel:031-297-8208
Szl o o] dof  HP:010-6265-8203

2~

B
=

T
%

AR LR} 2018.4.27

A: AghL(AZ)

:‘g_

B

AHZE 163,6% 6085 (WFEE, YU=Eh
Fex:031-257-8208 E-mail: skmetal88@gmail. com

—L
“

A A A

4
==

% AALY] B33 HHS 7|ddYT %

A (F-7HA =3 W 1, 830, 070
No *4 T4 2 TF @7t a7t A <4 H] 3L
1 | Ti GR2 HEX BOLT M8*50 EA 300 2,210 663,000 66,300 | 717171
2 | Ti GR2 HEX BOLT M8+35 EA 200 1,900 380,000 #38,000 [ 71A171E
3 | Ti GR2 HEX BOLT M6+20 EA 50 1,245 162,250 6, 225 7| A7VE
4 | Ti GR2 HEX NUT M8 EA 500 819 409, 500 #40,950 | 714171
5 | Ti GR2 HEX NUT M6 EA 50 530 29,000 2,900 7| A7V
6 Ti GR2 Washer M8 EA 500 221 110,500 11,050
7 Ti GR2 Washer M6 FA 50 189 9,450 1945
8
9
10
11
12
13
3 A 1, 650 W 1,663,700 | W 166, 370
REMARKS
L. AARfFa7|IZ- A Y25 10d
2. 747 HFUEHE 30 &8




=24 FAL
. Titanium | Titanium | Titanium
Material STS400 STS304 | AL-6061-T6 00
Grade-2 | Grade-9 | Grade-5
QIMUE | 345 620 895 400-510 | 520 310 Mpa
1Mpa = 10.197 kgf/cm?
Mpas C©hel ™ZE 1cm® © 10kgel 35S Y £ U 4=


User
밑줄

User
입력 텍스트
Mpa

User
입력 텍스트
단  위 


A XM
o 59l CHE
L= 21 (e]]
2018 4F 24¢ c=us 124-87-11390
NS stsizC
MEHER HEERT 2z |4 =|mooieool = na2
KFEAFK LI S =
AIHHIJ H7|2 BHA| =22 95HZ 40 (L)
A '
81719t Zo] 7 #u|ct ] -
A Ef H=x= ; W B2s
TEL: TEL 032)675-7720 FAX 032)684-7786
FAX:
HP: 010-8072-8008
NO £= 4 = ctot 227t H| D
1 TI GR5 HEX BOLT M8*50 300 4,000 1,200,000 S
2 TI GR5 HEX BOLT M8*35 200 3,500 700,000
3 TI GR5 HEX BOLT M6*20 50 2,700 135,000
4 TI GR2 NUT M8 500 900 450,000
5 TI GR2 NUT M6 50 600 30,000
6 TI GR2 P/W M8 X 0.7T 500 1,200 600,000
7 TI GR2 P/W M6 X 0.7T 50 1,200 60,000
Total 1,600 3,175,000
27 EF 10 Y
H 1
AN ZEH: M22 30%, H=E ™ 70%




&l

2018 04E 242

: 2 s=
ASOstm Arsta aict 25t o= | 214-86-53610
AN ®AE Y A 3
M = ElEks GR-5/R2 2E 9 AX 4z | ot 2B (=) 4| e
AXWS: 16846 = S
KeJ2t AXRY=Z 7Y FA| CHALAl SR AEIBQ|4251(2 L S) s
g o = & 10Y At
NEZAH: LA ML ZAIE S SR | M= SOH == Hg'?f%%gixﬂ¥
Ofcli 2 201 A& SHL|CF.
B2 UZ QWA UDAFHOY A (W5,414,750-)
Z=2 3 U 2=y - o O} 220t
M8X50L TI-5 HEX BOLT 300.00 EA 5,500.00 1,650,000
M8X35L TI-5 HEX BOLT 200.00 EA 5,000.00 1,000,000
M6X20L TI-5 HEX BOLT 50.00 EA 4,500.00 225,000
M8 TI-5 HEX NUT 500.00 EA 3,000.00 1,500,000
M6 TI-5 HEX NUT 50.00 EA 2,500.00 125,000
M8X1.6T TI-2 P/W 500.00 EA 250.00 125,000
M6X1.6T TI-2 P/W 50.00 EA 200.00 10,000
M8 TI-2 HEX NUT 500.00 EA 550.00 275,000
M6 TI-2 HEX NUT 50.00 EA 250.00 12,500
S=HA: 4,922,500
Nl X A 492,250
g Al 5,414,750
oM OO X ox ox ox x 0 ol o BH 3% 3 3 X M X X X X
S J| A gt
A0 2 TI-5(TI BAL 4V) Ol= 0R L=24F [/ TI-2 24t
R ERE] M35 070-4010-8591 TABIS: 031-319-5061

/1%




	1.견적서_서광금속
	2.견적서_TI_GR2_서광금속
	3.인장강도표
	4.견적서_아이엠에이
	5.견적서_하이엠



